# BID FORMS (00 4100)

#### **BID FORM -**

Invitation No:	BID 21/37/B
Project:	City-Wide Water Utility Construction & Repair Contract, CIP # 3057
Date of Issuance of Invitation to Bid:	May 17, 2021
This Bid is submitted <u>electronically</u> to:	PURCHASING DIVISION CITY OF SANTA FE https://www.purchasing@santafenm.gov

- 1. The undersigned Bidder proposes and agrees, if this Bid is accepted, to enter into an agreement with the City of Santa Fe in the form included in the Bidding Documents to perform and furnish all work as specified or indicated in the Bidding Documents for the Contract Price and within the Contract Time indicated in this Bid and in accordance with the other terms and conditions of the Contract Documents.
- 2. The Bidder accepts all of the terms and conditions of the Invitation for Bid and Instructions to Bidders, including, without limitation, those dealing with the disposition of Bid security and other Bidding Documents. This Bid will remain subject to acceptance for 60 days after the day of Bid opening. The Bidder shall sign and submit the Agreement between City of Santa Fe and the Contractor (hereinafter called Agreement) with the bonds and other documents required by the Bidding Requirements within fifteen (15) calendar days after the date of the City of Santa Fe's Notice to Award.
- 3. In submitting this Bid, the Bidder represents, as more fully set forth in the Agreement, that:
  - A. The Bidder has examined copies of all the Bidding Documents and of the following Addenda (receipt of all of which is hereby acknowledged):

No.	1	Date	5-21-2021	No.	1	Date	5-28-2021
No.		Date		No.		Date	
No.		Date		No.		Date	
No.		Date		No.		Date	

- B. The Bidder has become familiar with the nature and extent of the Bidding Documents, work, site, locality, and all local condition, laws, and regulations that in any manner may affect cost, progress, performance, or furnishing of the work.
- C. The Bidder has carefully studied all reports and drawings of subsurface conditions which are identified in the Information Available to Bidders and accepts the determination set forth in the Information Available to Bidders of the extent of the technical data contained in such reports and drawings upon which the Bidder is entitled to rely.
- D. The Bidder has correlated the results of all such observations, examinations, investigations, explorations, tests, reports, and studies with the terms and conditions of the Bidding Documents.
- E. The Bidder has given the City of Santa Fe's Representative written notice of all conflicts, errors, or discrepancies that have been discovered in the Bidding Documents, and the written resolution thereof by the City of Santa Fe's Representative is acceptable to the Bidder. All of this must be accomplished prior to the Bid Date.
- F. This Bid is genuine and not made in the interest of or on behalf of any undisclosed person, firm, or corporation and is not submitted inconformity with any agreement or rules of any group, association, organization, or corporations, the Bidder has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid; the Bidder has not solicited or induced any person, firm or corporation to refrain from bidding; and the Bidder has not sought by collusion to obtain any advantage over any other Bidder or over the City of Santa Fe. It is understood that the City of Santa Fe reserves the right to reject any or all Bids and to waive any technical irregularities in the bidding.
- G. It is the intent of the City to award a Contract to the responsible Bidder submitting the lowest total option, provided the Bid has been submitted in accordance with the requirements of the Bidding Documents and is in the best interest of the City.

The Scope of Work together with all related work required for comprehensive, fully functioning, warrantied systems and finishing includes but is not limited to the Work listed in the SCOPE OF BIDS.

Contractor shall be responsible for adherence to the Contract Documents, Construction Documents, Specifications and approved directives.

Contractor shall be responsible for State CID requirements and permit.

Contractor shall be responsible for verifications of all existing conditions, measurements and dimensions for bidding.

Contractor shall be responsible for all permits, fees, and State and/or City inspections associated with the construction.

Contractor shall be responsible for removal and securing of any existing equipment necessary to provide for the new work in accordance with the contract documents and to re-install these items in good work condition.

The Bidder will complete future work (Work Orders) using the following bid Unit Price(s):

# ATTACHMENT A

Bid Item	Approx . QTY.	Unit	Article and Description	Unit Price	Item	Price
Construction Items	<b>I</b>				1	
5	35	LF	2" PVC Water Main, cip, all lengths	\$35.00	\$	1,225.00
10	35	LF	4" PVC Water Main, cip, <100'	\$40.00	\$	1,400.00
15	100	LF	4" PVC Water Main, cip, >100'	\$38.00	\$	3,800.00
20	50	LF	6" PVC Water Main, cip, <100'	\$45.00	\$	2,250.00
25	150	LF	6" PVC Water Main, cip, >100'	\$42.00	\$	6,300.00
30	75	LF	8" PVC Water Main, cip, <100'	\$50.00	\$	3,750.00
35	200	LF	8" PVC Water Main, cip, >100'	\$48.00	\$	9,600.00
40	35	LF	10" PVC Water Main, cip, <100'	\$60.00	\$	2,100.00
45	100	LF	10" PVC Water Main, cip, >100'	\$55.00	\$	5,500.00
50	50	LF	12" PVC Water Main, cip, <100'	\$72.00	\$	3,600.00
55	150	LF	12" PVC Water Main, cip, >100'	\$68.00	\$	10,200.00
60	50	LF	14" PVC Water Main, cip	\$95.00	\$	4,750.00
65	50	LF	16" PVC Water Main, cip	\$110.00	\$	5,500.00
70	50	LF	24" PVC Water Main, cip	\$235.00	\$	11,750.00
75	35	LF	2" DI Water Main, cip, all lengths	\$0.00	\$	-
80	50	LF	4" DI Water Main, cip, <100'	\$70.00	\$	3,500.00
85	100	LF	4" DI Water Main, cip, >100'	\$57.00	s	5,700.00
90	75	LF	6" DI Water Main, cip, <100'	\$74.00	s	5,550.00
95	250	LF	6" DI Water Main, cip, >100'	\$62.00	8	15,500.00
100	75	LF	8" DI Water Main, cip, <100'	\$76.00	\$	5,700.00
105	250	LF	8" DI Water Main, cip, >100'	\$68.00	8	17,000.00
110	35	LF	10" DI Water Main, cip, <100'	\$89.00	8	3,115.00
115	100	LF	10" DI Water Main, cip, >100'	\$85.00	8	8,500.00
120	50	LF	12" DI Water Main, cip, <100'	\$120.00	\$	6,000.00
125	100	LF	12" DI Water Main, cip, >100'	\$105.00	\$	10,500.00
130	50	LF	14" DI Water Main, cip	\$144.00	8	7,200.00
135	50	LF	16" DI Water Main, cip	\$178.00	\$	8,900.00
140	50	LF	24" DI Water Main, cip	\$255.00	\$	12,750.00
145	75	LF	Extra Pay for Trench Depth, 6'-8'	\$42.00	\$	3,150.00
150	50	LF	Extra Pay for Trench Depth, 8'-10'	\$97.00	\$	4,850.00
155	25	LF	Extra Pay for Trench Depth, 10'-14'	\$155.00	\$	3,875.00
160	20	CY	Rock Excavation	\$350.00	\$	7,000.00
165	300	CY	Exploratory Excavation (as SDCW Approved)	\$35.00	\$	10,500.00
170	75	CY	Imported Backfill (as SDCW Approved)	\$45.00	\$	3,375.00
175	1,000	LB	Fitting Installation	\$5.00	\$	5,000.00
180	500	LB	Fitting Insertion	\$18.00	\$	9,000.00
185	25	EA	4" Retainer Ring/ Bolt on Flange	\$45.00	\$	1,125.00

50       EA       6" Retainer Ring/ Bolt on Flange       \$68.00       \$3,400.00         50       EA       8" Retainer Ring/ Bolt on Flange       \$78.00       \$3,900.00         20       EA       10" Retainer Ring/ Bolt on Flange       \$125.00       \$2,500.00         20       EA       12" Retainer Ring/ Bolt on Flange       \$150.00       \$3,000.00         20       EA       14" Retainer Ring/ Bolt on Flange       \$190.00       \$3,800.00         10       EA       16" Retainer Ring/ Bolt on Flange       \$265.00       \$2,650.00         25       EA       4"Joint Harness       \$45.00       \$1,125.00         50       EA       6" Joint Harness       \$60.00       \$3,000.00         50       EA       8" Joint Harness       \$95.00       \$4,750.00         20       EA       10" Joint Harness       \$160.00       \$3,200.00         20       EA       12" Joint Harness       \$185.00       \$3,700.00         20       EA       14" Joint Harness       \$365.00       \$7,300.00         10       EA       16" Joint Harness       \$400.00       \$2,750.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$2,750.00
20       EA       10" Retainer Ring/ Bolt on Flange       \$125.00       \$2,500.00         20       EA       12" Retainer Ring/ Bolt on Flange       \$150.00       \$3,000.00         20       EA       14" Retainer Ring/ Bolt on Flange       \$190.00       \$3,800.00         10       EA       16" Retainer Ring/ Bolt on Flange       \$265.00       \$2,650.00         25       EA       4"Joint Harness       \$45.00       \$1,125.00         50       EA       6" Joint Harness       \$60.00       \$3,000.00         50       EA       8" Joint Harness       \$95.00       \$4,750.00         20       EA       10" Joint Harness       \$160.00       \$3,200.00         20       EA       12" Joint Harness       \$185.00       \$3,700.00         20       EA       14" Joint Harness       \$365.00       \$7,300.00         10       EA       16" Joint Harness       \$400.00       \$4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$2,750.00
20         EA         12" Retainer Ring/ Bolt on Flange         \$150.00         \$3,000.00           20         EA         14" Retainer Ring/ Bolt on Flange         \$190.00         \$3,800.00           10         EA         16" Retainer Ring/ Bolt on Flange         \$265.00         \$2,650.00           25         EA         4"Joint Harness         \$45.00         \$1,125.00           50         EA         6" Joint Harness         \$60.00         \$3,000.00           50         EA         8" Joint Harness         \$95.00         \$4,750.00           20         EA         10" Joint Harness         \$160.00         \$3,200.00           20         EA         12" Joint Harness         \$185.00         \$3,700.00           20         EA         14" Joint Harness         \$365.00         \$7,300.00           10         EA         16" Joint Harness         \$400.00         \$4,000.00           10         CY         Concrete Thrust Blocking (as SDCW Approved)         \$275.00         \$2,750.00
20         EA         14" Retainer Ring/ Bolt on Flange         \$190.00         \$3,800.00           10         EA         16" Retainer Ring/ Bolt on Flange         \$265.00         \$2,650.00           25         EA         4"Joint Harness         \$45.00         \$1,125.00           50         EA         6" Joint Harness         \$60.00         \$3,000.00           50         EA         8" Joint Harness         \$95.00         \$4,750.00           20         EA         10" Joint Harness         \$160.00         \$3,200.00           20         EA         12" Joint Harness         \$185.00         \$3,700.00           20         EA         14" Joint Harness         \$365.00         \$7,300.00           10         EA         16" Joint Harness         \$400.00         \$4,000.00           10         CY         Concrete Thrust Blocking (as SDCW Approved)         \$275.00         \$2,750.00
10       EA       16" Retainer Ring/ Bolt on Flange       \$265.00       \$ 2,650.00         25       EA       4"Joint Harness       \$45.00       \$ 1,125.00         50       EA       6" Joint Harness       \$60.00       \$ 3,000.00         50       EA       8" Joint Harness       \$95.00       \$ 4,750.00         20       EA       10" Joint Harness       \$160.00       \$ 3,200.00         20       EA       12" Joint Harness       \$185.00       \$ 3,700.00         20       EA       14" Joint Harness       \$365.00       \$ 7,300.00         10       EA       16" Joint Harness       \$400.00       \$ 4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$ 2,750.00
25       EA       4"Joint Harness       \$45.00       \$ 1,125.00         50       EA       6" Joint Harness       \$60.00       \$ 3,000.00         50       EA       8" Joint Harness       \$95.00       \$ 4,750.00         20       EA       10" Joint Harness       \$160.00       \$ 3,200.00         20       EA       12" Joint Harness       \$185.00       \$ 3,700.00         20       EA       14" Joint Harness       \$365.00       \$ 7,300.00         10       EA       16" Joint Harness       \$400.00       \$ 4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$ 2,750.00
50       EA       6" Joint Harness       \$60.00       \$3,000.00         50       EA       8" Joint Harness       \$95.00       \$4,750.00         20       EA       10" Joint Harness       \$160.00       \$3,200.00         20       EA       12" Joint Harness       \$185.00       \$3,700.00         20       EA       14" Joint Harness       \$365.00       \$7,300.00         10       EA       16" Joint Harness       \$400.00       \$4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$2,750.00
50       EA       8" Joint Harness       \$95.00       \$ 4,750.00         20       EA       10" Joint Harness       \$160.00       \$ 3,200.00         20       EA       12" Joint Harness       \$185.00       \$ 3,700.00         20       EA       14" Joint Harness       \$365.00       \$ 7,300.00         10       EA       16" Joint Harness       \$400.00       \$ 4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$ 2,750.00
20       EA       10" Joint Harness       \$160.00       \$ 3,200.00         20       EA       12" Joint Harness       \$185.00       \$ 3,700.00         20       EA       14" Joint Harness       \$365.00       \$ 7,300.00         10       EA       16" Joint Harness       \$400.00       \$ 4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$ 2,750.00
20       EA       12" Joint Harness       \$185.00       \$ 3,700.00         20       EA       14" Joint Harness       \$365.00       \$ 7,300.00         10       EA       16" Joint Harness       \$400.00       \$ 4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$ 2,750.00
20       EA       14" Joint Harness       \$365.00       \$ 7,300.00         10       EA       16" Joint Harness       \$400.00       \$ 4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$ 2,750.00
10       EA       16" Joint Harness       \$400.00       \$4,000.00         10       CY       Concrete Thrust Blocking (as SDCW Approved)       \$275.00       \$2,750.00
CY Concrete Thrust Blocking (as SDCW Approved) \$275.00 \$ 2,750.00
10 CY
2 FA F C1 /F (HX/4H)
2 EA Tapping Sleeve w/ Tap, 4" X 4" \$1,300.00 \$ 2,600.00
4 EA Tapping Sleeve w/ Tap, 6" X 4" - 6" \$1,535.00 \$ 6,140.00
4 EA Tapping Sleeve w/ Tap, 8" X 4" - 8" \$2,000.00 \$ 8,000.00
2 EA Tapping Sleeve w/ Tap, 10" X 4" - 10" \$2,400.00 \$ 4,800.00
4 EA Tapping Sleeve w/ Tap, 12" X 4" - 12" \$3,000.00 \$ 12,000.00
1 EA Tapping Sleeve w/Tap, 20" X 4" - 20" \$5,295.00 \$ 5,295.00
1 EA Non-Pressurized Connections, 2" line \$800.00 \$ 800.00
1 EA Non-Pressurized Connections, 4"-10" line \$3,500.00 \$ 3,500.00
1 EA Non-Pressurized Connections, 12"-20" line \$8,000.00 \$ 8,000.00
2 EA 2" CL125 Gate Valves, cip. \$640.00 \$ 1,280.00
2 EA 4" CL125 Gate Valves, cip. \$800.00 \$ 1,600.00
5 EA 6" CL125 Gate Valves, cip. \$1,100.00 \$ 5,500.00
5 EA 8" CL125 Gate Valves, cip. \$1,475.00 \$ 7,375.00
1 EA 10" CL125 Gate Valves, cip. \$2,295.00 \$ 2,295.00
2 EA 12" CL125 Gate Valves, cip. \$3,000.00 \$ 6,000.00
1 EA 2" CL250 Gate Valves, cip. \$640.00 \$ 640.00
1 EA 4" CL250 Gate Valves, cip. \$1,750.00 \$ 1,750.00
10 EA 6" CL250 Gate Valves, cip. \$1,850.00 \$ 18,500.00
3 EA 8" CL250 Gate Valves, cip. \$2,000.00 \$ 6,000.00
1 EA 10" CL250 Gate Valves, cip. \$3,800.00 \$ 3,800.00
1 EA 12" CL250 Gate Valves, cip. \$4,480.00 \$ 4,480.00
1 EA 16" CL250 Gate Valves, cip. \$6,950.00 \$ 6,950.00
1 EA 20" CL250 Gate Valves, cip. \$17,320.00 \$ 17,320.00
1 EA 24" CL250 Gate Valves, cip. \$24,250.00 \$ 24,250.00
1 EA 12" CL250 Butterfly Valves, cip. \$2,800.00 \$ 2,800.00
1 EA 16" CL250 Butterfly Valves, cip. \$5,100.00 \$ 5,100.00
1 EA 20" CL250 Butterfly Valves, cip. \$8,660.00 \$ 8,660.00
1 EA 24" CL250 Butterfly Valves, cip. \$10,760.00 \$ 10,760.00

400	5	EA	Fire Hydrant, 5' or less bury, cip.	\$2,850.00	s	14,250.00
405	2	EA	Fire Hydrant Extension, 6" or 12" length	\$695.00	\$	1,390.00
410	1	EA	Fire Hydrant Extension, 18" or 24" length	\$810.00	\$	810.00
415	1	EA	Fire Hydrant Remove & Relay	\$1,900.00	\$	1,900.00
420	1	EA	Fire Hydrant Remove & Return	\$1,200.00	\$	1,200.00
425	1	EA	2 1/4" Flush Hydrant	\$1,750.00	s	1,750.00
430	1	EA	2" Blow-Off Valve Installation	\$1,500.00	\$	1,500.00
435	1	EA	2" Pressure Relief Valve, cip.	\$6,730.00	\$	6,730.00
440	1	EA	3" Pressure Relief Valve, cip.	\$7,056.00	\$	7,056.00
445	1	EA	4" Pressure Relief Valve, cip.	\$8,490.00	\$	8,490.00
450	1	EA	6" Pressure Relief Valve, cip.	\$11,233.00	\$	11,233.00
455	1	EA	8" Pressure Relief Valve, cip.	\$15,200.00	\$	15,200.00
460	1	EA	12" Pressure Relief Valve, cip.	\$29,950.00	\$	29,950.00
465	1	EA	Air & Vacuum Release Valve, 1"	\$2,990.00	\$	2,990.00
470	1	EA	Air & Vacuum Release Valve, 2"	\$4,350.00	\$	4,350.00
475	1	EA	Install City of Santa Fe Furnished Valve/Meter, 2" - 4"	\$1,200.00	\$	1,200.00
480	1	EA	Install City of Santa Fe Furnished Valve/Meter, 6" - 8"	\$1,500.00	\$	1,500.00
485	1	EA	Install City of Santa Fe Furnished Valve/Meter, 10". 12"	\$1,800.00	\$	1,800.00
490	ĺ	EA	Metered 2" Bypass - Vault Installation	\$6,500.00	\$	6,500.00
495	20	EA	Valve Box, cip.	\$225.00	8	4,500.00
500	5	EA	Valve Box Replacement	\$275.00	\$	1,375.00
505	5	EA	Valve Box Removal of Existing	\$225.00	\$	1,125.00
510	3	EA	Valve Box Adjustment	\$150.00	\$	450.00
515	1	EA	Valve Stem Extension, 0'-4' Depth	\$75.00	\$	75.00
520	4	VF	Precast 4' Diameter Pit w/ Lid Min. 4' Depth	\$325.00	\$	1,300.00
525	8	VF	Precast 6' Diameter Pit w/ Lid Min. 4' Depth	\$475.00	\$	3,800.00
530	8	VF	Precast 8' Diameter Pit w/ Lid Min. 4' Depth	\$550.00	\$	4,400.00
535	7	CY	Cast-In-Place RCP Vault w/ Lid	\$855.00	\$	5,985.00
540	1	EA	Prefabricated Vault, 4' X 8'	\$15,400.00	\$	15,400.00
545	1	ACRE	Native Seeding	\$6,500.00	\$	6,500.00
550	1	EA	Bollards (pair)	\$250.00	\$	250.00
555	18	LF	4" Steel Casing	\$68.00	\$	1,224.00
560	18	LF	4" PVC Casing	\$62.00	\$	1,116.00
565	18	LF	14" Steel Casing	\$98.00	S	1,764.00
570	18	LF	16" Steel Casing	\$113.00	\$	2,034.00
575	18	LF	18" Steel Casing	\$129.00	\$	2,322.00
580	18	LF	22" Steel Casing	\$165.00	\$	2,970.00
585	18	LF	26" Steel Casing	\$266.00	\$	4,788.00
590	18	LF	28" Steel Casing	\$293.00	\$	5,274.00
595	18	LF	30" Steel Casing	\$221.00	\$	3,978.00

600	18	LF	36" Steel Casing	\$263.00	\$	4,734.00
605	50	DIA- IN- LF	Bore & Jack Casing Pipe	\$430.00	\$	21,500.00
610	18	LF	Open Cut Casing Pipe Installation, < 6' Deep	\$85.00	\$	1,530.00
615	25	SY	Asphalt Pavement Removal & Disposal,	\$10.00	\$	250.00
620	200	SY	Asphalt Pavement Removal & Disposal, 2"-6"	\$12.00	\$	2,400.00
625	10	SY	Concrete Pavement Removal & Disposal,	\$100.00	\$	1,000.00
630	10	SY	Concrete Pavement Removal & Disposal, 2"-6"	\$155.00	\$	1,550.00
635	50	LF	Concrete Curb and Gutter Removal & Disposal	\$12.00	\$	600.00
640	10	SY	Concrete Sidewalk Removal & Disposal	\$100.00	8	1,000.00
645	50	SY	Replace City Street Pavement w/o Laydown Machine, Virgin Asphalt	\$76.00	\$	3,800.00
650	50	SY	Replace City Street Pavement w/o Laydown Machine, Recycled Asphalt	\$68.00	\$	3,400.00
655	50	SY	Replace City Street Pavement with Laydown Machine, Virgin Asphalt	\$60.00	\$	3,000.00
660	10	SY	Replace City Street Pavement with Laydown Machine, Recycled Asphalt	\$54.00	\$	540.00
665	10	SY	Replace City Street Pavement with Temporary Colo Mix	\$50.00	\$	500.00
670	100	SY	Replace Non-City Street Pavement w/o Laydown Machine, Virgin Asphalt	\$70.00	\$	7,000.00
675	10	SY	Replace Non-City Street Pavement w/o Laydown Machine, Recycled Asphalt	\$62.00	\$	620.00
680	10	SY	Replace Non-City Street Pavement with Laydown Machine, Virgin Asphalt	\$60.00	s	600.00
685	10	SY	Replace Non-City Street Pavement with Laydown Machine, Recycled Asphalt	\$54.00	\$	540.00
690	1	SY	Replace Non-City Street Pavement with Temporary Cold Mix	\$50.00	\$	50.00
695	10	SY	Replace Concrete Pavement	\$233.00	s	2,330.00
700	50	LF	Replace Concrete Curb & Gutter	\$45.00	\$	2,250.00
705	10	SY	Replace Concrete Sidewalk	\$120.00	8	1,200.00
710	10	CY	Replace Gravel Surface, 0"-2"	\$165.00	s	1,650.00
715	10	CY	Replace Gravel Surface, 2"-4"	\$255.00	\$	2,550.00
720	150	SY	Base course/Gravel (crushed or landscape), 0'-3"	\$26.50	\$	3,975.00
725	50	SY	Base course/Gravel (crushed or landscape), 3"-6"	\$53.00	s	2,650.00
730	4	EA	Service, 3/4" Single, New Main	\$875.00	\$	3,500.00
735	2	EA	Service, 3/4" Double, New Main	\$1,350.00	\$	2,700.00
740	2	EA	Service, 1", New Main	\$1,950.00	\$	3,900.00
745	1	EA	Service, 1 1/2", New Main	\$3,750.00	\$	3,750.00
750	1	EA	Service, 2", New Main	\$4,000.00	\$	4,000.00
755	5	EA	Service, 3/4" Single, Existing Main	\$1,250.00	\$	6,250.00

760	2	EA	Service, 3/4" Double, Existing Main	\$1,850.00	\$ 3,700.00
765	1	EA	Service, 1", Existing Main	\$1,975.00	\$ 1,975.00
770	1	EA	Service, 1 1/2", Existing Main	\$3,750.00	\$ 3,750.00
775	1	EA	Service, 2", Existing Main	\$4,650.00	\$ 4,650.00
780	5	EA	Service Replacement, 3/4"	\$1,355.00	\$ 6,775.00
785	2	EA	Service Replacement, Double, 3/4"	\$1,800.00	\$ 3,600.00
790	1	EA	Service Replacement, 1"	\$2,250.00	\$ 2,250.00
795	1	EA	Service Replacement, 1 1/2"	\$4,000.00	\$ 4,000.00
800	1	EA	Service Replacement, 2"	\$4,900.00	\$ 4,900.00
805	3	EA	Meter Box Relocation/Replacement, 3/4"	\$800.00	\$ 2,400.00
810	1	EA	Meter Box Relocation/Replacement, 1"	\$900.00	\$ 900.00
815	1	EA	Meter Box Relocation/Replacement, 1- 1/2"	\$2,000.00	\$ 2,000.00
820	1	EA	Meter Box Relocation/Replacement, 2"	\$2,200.00	\$ 2,200.00
825	5	EA	Service Transfer, 3/4"	\$1,000.00	\$ 5,000.00
830	2	EA	Service Transfer, 1"	\$1,100.00	\$ 2,200.00
835	1	EA	Service Transfer, 1 1/2"	\$1,400.00	\$ 1,400.00
840	1	EA	Service Transfer at Main, 2"	\$1,800.00	\$ 1,800.00
845	1	EA	Retire Existing Service at Main, 3/4"- 2"	\$1,200.00	\$ 1,200.00
850	1	EA	Retire Existing Meter Box & Setting	\$350.00	\$ 350.00
855	1	EA	Adjust Meter Box To Grade	\$375.00	\$ 375.00
860	11	EA	Service Saddle, 3/4" Tap, 4"-12" Main	\$350.00	\$ 3,850.00
865	4	EA	Service Saddle, 1" Tap, 4"-12" Main	\$150.00	\$ 600.00
870	3	EA	Service Saddle, 1 1/2" Tap, 4"-12" Main	\$175.00	\$ 525.00
875	3	EA	Service Saddle, 2" Tap, 4"-12" Main	\$225.00	\$ 675.00
880	100	LF	Service Tubing, 3/4"	\$24.00	\$ 2,400.00
885	100	LF	Service Tubing, 1"	\$32.00	\$ 3,200.00
890	100	LF	Service Tubing, 1 1/2"	\$49.00	\$ 4,900.00
895	25	LF	Service Tubing, 2"	\$78.00	\$ 1,950.00
900	1	EA	Air and Vacuum Valve (individual)	\$450.00	\$ 450.00
905	1	GROUP OF 10	Air and Vacuum Valves	\$5,850.00	\$ 5,850.00
910	1	EA	Automatic Flushing Valve	\$5,500.00	\$ 5,500.00
915	\$20,000	EA	Materials Mark-Up Over Invoice - Flat Rate	\$6,000.00	\$6,000.00
920	\$8,000	EA	Traffic Control Mark-Up Over Invoice - Flat Rate	\$3,000.00	\$3,000.00
925	150	30%	Street-Cut Permits	\$195.00	\$ 195.00
930	1	EA	Project Signs	\$900.00	\$ 900.00
935	10	HR	Archeological Required Delay (after 2 hrs.)	\$125.00	\$ 1,250.00
940	1	LS	Archeological Required Mob/Demob	\$1,000.00	\$ 1,000.00
EMERGENCY REPAIR					
9000	175	HR	Supervisor's Truck with tools	\$20.00	\$ 3,500.00
9100	80	HR	Backhoe/Skid Steer	\$45.00	\$ 3,600.00

9200	8	HR	Compressor with tools	\$30.00	\$	240.00
9300	16	HR	Dump Truck	\$65.00	\$	1,040.00
9400	4	HR	Pump	\$0.00	\$	-
9500	300	HR	Laborer	\$40.00	\$	12,000.00
9600	200	HR	Pipe Fitter	\$45.00	\$	9,000.00
9700	200	HR	Equipment Operator	\$50.00	\$	10,000.00
9800	175	HR	Foreman	\$60.00	\$	10,500.00
9900	\$5,000	EA	Rental Items Mark-Up Over Invoice (multiply \$5,000 x your flat rate for Item Price)	\$1,440.00	\$1,440	.00
9950	\$20,000	EA	Materials Mark-Up Over Invoice (multiply \$20,000 x your flat rate for Item Price)	\$6,000.00	\$6,000	.00

Total of all Item Prices (last column):

\$ 905,523.00

875	3	EA	Service Saddle, 2" Tap, 4"-12" Main	\$	\s\ \
888	100	LF	Service Tubing, 3/4"	\$	\$
885	100	LF	Service Tubing, 1"	\$	8
890	100	LF	Service Tubing, 1 1/2"	\$	s
895	25	LF	Service Tubing, 2"	\$ /	\$
900	1	EA	Air and Vacuum Valve (individual)	8	\$
905	1	GROUP OF 10	Air and Vacuum Valves	\$	\$
910	1	EA	Automatic Flushing Valve	\$	\$
915	\$20,000	%	Materials Mark-Up Over Invoice	\$	\$
920	\$8,000	%	Traffic Control Mark-Up Over Invoice	\$	\$
925	1	Allow.	Street Cut Permits	\$	\$
930	1	EA	Project Signs	\$	\$
935	10	HR	Archeological Required Delay (after 2 hrs.)		\$
940	1	LS	Archeological Required Mob/Demob		\$
MERGENCY REPAIR					\$
9000	175	HR	Supervisor's Truck with tools		\$
9100	80	HR	Backhoe/Skid Steer	\$	\$
9200	8	HR	Compressor with tools	\$	\$
9300	16	HX	Dump Truck	\$	\$
9400	4	HR	Pump	\$	\$
9500	300	HR	Laborer	8	\$
9600	200	HR	Pipe Fitter	\$	\$
9700	200	HR	Equipment Operator	s	\$
9800	175	HR	Foreman	\$	- 18
9900	\$5,000	%	Rental Items Mark-Up Over Invoice (multiply \$5,000 x your % for Item Price)	%	\$
9950	\$20,000	0/0	Materials Mark-Up Over Invoice (multiply \$20,000 x your 5 for Item Price)	%	s

Total of all Item Prices (last column)

Base Bid - Contractor shall be chosen based on the total of all Bid Items Item Price, as Bid, exclusive of Gross Receipts

Tax:

Nike hundred five hundred twenty three dollars and zero cents.

(use words)

#### 4. The Bidder agrees that:

A. For all "normal" Work Orders (WO) the work to be performed under the WO shall commence not later than ten (10) consecutive calendar days after the date of written Notice to Proceed. For all "emergency" WOs the Contractor shall be on-site within 4-hours

of notification. All work shall be completed by the end of the Fiscal Year (June 30), except as hereafter extended by valid written "Change Order" by the City of Santa Fe.

- B. Should the Contractor neglect, refuse, or otherwise fail to complete the work within the time specified, the Contractor agrees, in partial consideration for the award of this Contract, to pay the City of Santa Fe the amount of Two Hundred Fifty Dollars (\$250) per consecutive calendar days, not as a penalty, but as liquidated damages for such breach of the Contract.
- C. The above process shall include all labor, profit, insurance, taxes, etc., to cover the finished work of the several kinds called for. Changes shall be processed in accordance with the Contract Documents.
- D. It is understood that the City of Santa Fe reserves the right to reject any or all Bids and to waive any technical irregularities in the bidding.
- 5. The following forms and sample forms are attached to and/or required for this ITB and their completion and submittal (as required) is a condition of a responsible and responsive Bid:
  - A. Bid Bond (only for the highest bid option) (AIA Document A310 must accompany the Bid.)
  - B. Agent's Affidavit (This form must accompany Bid Bond.)
  - C. Subcontractor Listing Form (This form must accompany the Bid.)
  - D. Non-Collusion Affidavit of Prime Bidder (This form must accompany the Bid.)
  - E. Non-Collusion Affidavit of Subcontractor (This form must be submitted upon Award of Contract.)
  - F. Certificate of Non-Segregated Facilities (This form must accompany the Bid.)
  - G. Certificate of Bidder Regarding Equal Employment Opportunity (This form must accompany the Bid.)
  - H. Statement of Intent to pay prevailing wages (This form must be provided within ten (10) days after NMDWS NOA.)
  - I. Affidavit of Wages Paid (This form must be provided with Construction Close-Out.)
  - J. Weekly Payroll Form (This form must be provided during Construction.)
  - K. Payroll Statement of Compliance (This form must be provided during Construction.)
  - L. Certificate of current registration with the NMDWS (This form must accompany the Bid.)
  - M. Certificate of City of Santa Fe Business Registration (This form must accompany the Bid.)
  - N. Certificate of licensure with the New Mexico Regulation and Licensing Department, CID (This form must accompany the Bid.)
  - O. Performance Bond (AIA Form A312-Performance Bond-2010) (Sealed original must be provided within ten (10) days after City NOA.)
  - P. Payment Bond (AIA Form A312-Payment Bond-2010) (Sealed original must be provided within ten (10) days after City NOA.)
  - Q. Project-specific Certificate of General Liability Insurance (Current COI must be provided for inclusion with recommendation for Award of Contract.)
  - R. Project-specific Workers' Compensation Insurance (Current COI must be provided for inclusion with recommendation for Award of Contract.)

If any of the above documents, listed as required to accompany the Bid, are not included, current and completed in good order, the Bid shall be deemed non-responsive.

- 6. The terms used in this Bid and the Bidding and Contract Documents which are defined in the Conditions of the Construction Contract (General, Supplementary, and Other Conditions)
- 7. If the Bidder is:

	(Individual's Name)	
doing business as:		
Business address:		
Telephone:		

B. A PARTNERSHIP:

	(General Partner)		
Business Address:			····
Telephone:			
(SEAL)			
A CORPORATION	N A.A.C. Constructio	on, LLC	, entres. 11 et 102
By:	New Mexico	(Corporation Name)	
Ву:	Andrew Sisneros	(State of Incorporation)	
	Managing Memb	(Name of person authorized to sign) er	
If a New Mexico C	dorporation: 4055224	(Title)  Certificate of Incorporation No.	
Attest:	Why Sones	Certificate of Authority No.	
Wit:	_	<del>(Scuretary)</del> <b>%</b> , Santa Fe, NM 87507	
Telephone:	505-930-0481		
A JOINT VENTUE	RE		
Ву:	(Name)		
Address:			·····
Ву:		(Name)	

361394	GA-98, MM-98, GB-98, GF-98
NM License No.:	Classification:
NM Taxation and Revenue CRS No.:	03-157349-00-5
City of Santa Fe Business Registration	No.: 222939
NM Resident Preference Number (if app	

Bid Submittal shall be electronic as indicated by the Instructions to Bidders (00 2100).

### Bid Bond

CONTRACTOR:

(Name, legal status and address)
A.A.C. Construction, LLC
18 La Luna Rd.
Santa Fe, NM 87507

**SURETY:** 

(Name, legal status and principal place of business)

Granite Re, Inc. 14001 Quailbrook Dr Oklahoma City, OK 73134

This document has important legal consequences. Consultation with an attorney is encouraged with respect to its completion or modification.

Any singular reference to Contractor, Surety, Owner or other party shall be considered plural where applicable.

#### **OWNER:**

(Name, legal status and address)
City of Santa Fe
Public Utilities Department, Water Division

BOND AMOUNT: Five Percent (5%) Of The Amount Bid

### PROJECT:

(Name, location or address, and Project number, if any)

City-Wide Water Utility Construction & Repair Price Agreement Project Number, if any:

CIP # 3057

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the Surety's consent for an extension beyond sixty (60) days.

If this Bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirement shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Signed and sealed this 3rd day of June, 2021

A.A.C. Construction, LLC

(Principal)

(Title) Andrew Sisneros, Managing Member

Granite Re, Inc.

(Surety)

(Seal)

(Title) Maria Y. Ahkern, Attorney-In-Fact

NASBP

By arrangement with the American Institute of Architects, the National Association of Surety Bond Producers (NASBP) (<a href="www.nasbp.org">www.nasbp.org</a>) makes this form document available to its members, affiliates, and associates in Microsoft Word format for use in the regular course of surety business. NASBP vouches that the original text of this document conforms exactly to the text in AIA Document A310-2010, Bid Bond. Subsequent modifications may be made to the original text of this document by users, so careful review of its wording and consultation with an attorney are encouraged before its completion, execution or acceptance.

1

## **GRANITE RE, INC.**

### **GENERAL POWER OF ATTORNEY**

#### Know all Men by these Presents:

That GRANITE RE, INC., a corporation organized and existing under the laws of the State of MINNESOTA and having its principal office at the City of OKLAHOMA CITY in the State of OKLAHOMA does hereby constitute and appoint:

ROGER N. DOWNEY; CHRISTIAN B. DOWNEY; SHERRYL L. QUINT; MARIA Y. ANKENY; SUSAN J. VANCE; JOSEPH A. MENICUCCI its true and lawful Attorney-in-Fact(s) for the following purposes, to wit:

To sign its name as surety to, and to execute, seal and acknowledge any and all bonds, and to respectively do and perform any and all acts and things set forth in the resolution of the Board of Directors of the said GRANITE RE, INC. a certified copy of which is hereto annexed and made a part of this Power of Attorney; and the said GRANITE RE, INC. through us, its Board of Directors, hereby ratifies and confirms all and whatsoever the said:

ROGER N. DOWNEY; CHRISTIAN B. DOWNEY; SHERRYL L. QUINT; MARIA Y. ANKENY; SUSAN J. VANCE; JOSEPH A. MENICUCCI may lawfully do in the premises by virtue of these presents.

In Witness Whereof, the said GRANITE RE, INC. has caused this instrument to be sealed with its corporate seal, duly attested by the signatures of its President and Assistant Secretary, this 3<sup>rd</sup> day of January, 2020.

STATE OF OKLAHOMA )

SS:

COUNTY OF OKLAHOMA )

Kenneth D. Whittington, Presiden

Kyle P McDonald Assistant Secret

On this 3rd day of January, 2020, before me personally came Kenneth D. Whittington, President of the GRANITE RE, INC. Company and Kyle P. McDonald, Assistant Secretary of said Company, with both of whom I am personally acquainted, who being by me severally duly sworn, said, that they, the said Kenneth D. Whittington and Kyle P. McDonald were respectively the President and the Assistant Secretary of GRANITE RE, INC., the corporation described in and which executed the foregoing Power of Attorney; that they each knew the seal of said corporation; that the seal affixed to said Power of Attorney was such corporate seal, that it was so fixed by order of the Board of Directors of said corporation, and that they signed their name thereto by like order as President and Assistant Secretary, respectively, of the Company.

My Commission Expires: April 21, 2023

Commission #: 11003620

#1103920 #1103920 #2 647123

**Notary Public** 

Between J. alred

### **GRANITE RE, INC.**

#### Certificate

THE UNDERSIGNED, being the duly elected and acting Assistant Secretary of Granite Re, Inc., a Minnesota Corporation, HEREBY CERTIFIES that the following resolution is a true and correct excerpt from the July 15, 1987, minutes of the meeting of the Board of Directors of Granite Re, Inc. and that said Power of Attorney has not been revoked and is now in full force and effect.

"RESOLVED, that the President, any Vice President, the Assistant Secretary, and any Assistant Vice President shall each have authority to appoint individuals as attorneys-in-fact or under other appropriate titles with authority to execute on behalf of the company fidelity and surety bonds and other documents of similar character issued by the Company in the course of its business. On any instrument making or evidencing such appointment, the signatures may be affixed by facsimile. On any instrument conferring such authority or on any bond or undertaking of the Company, the seal, or a facsimile thereof, may be impressed or affixed or in any other manner reproduced; provided, however, that the seal shall not be necessary to the validity of any such instrument or undertaking."

IN WITNESS WHEREOF, the undersigned has subscribed this Certificate and affixed the corporate seal of the Corporation this

**DM** day of \_

, 20

Kylo P McDonald Assistant For

## BID SECURITY FORM

Section 00420

Review and Approval: This Bond has been executed by a Surety named in the current list of "Companies Holding Certificates of Authority as Acceptable Sureties on Federal Bonds and as Acceptable Reinsuring Companies," as published in Circular 570 (amended) by the Audit Staff Bureau of Accounts, United States Treasury Department.						
Approved:						
DATE:  City of Santa Fe Representative or Governing Authority						

## LOCAL PREFERENCE CERTIFICATION FORM

ITB NO:	21/37/B				
Business Name: _	A.A.C. Construction,	LLC			
Principal Office:	18 La Luna Rd	Santa Fe,	NM	87507	
	Street Address	City	State	Zip Code	- <del></del>
City of Santa Fe	Business License #	222939	(Attach C	Copy to this Forn	n)
-	ffice was established on of this RFP or RF		(Esta	ıblished date mu	st be six months before
		CERTIF	ICATIO	N	
is one ventu correct the C	e of the principal Cre). I hereby certify ct, that I am authorize	Offerors jointly that the inform the to sign on the provide with	y submitting nation which ehalf of the l in 3 working	this offer (e.g. I have provided business set out a g days of receip	or submitting this offer of as a partnership, join of an an analysis on this Form is true an above and, if requested but of notice, the necessar
Signature of Aut	horized Individual:	Mor	- 1	-	
Printed Name:	Andrew Sisneros  Member  Date	6-2-2021 e:			
Subscribed and s	worn before me by	Andrew St	neros this 2	$\frac{1}{2}$ , day of $\frac{\sqrt{3}}{2}$	ne,2021
My commission 6	.,, 0111 201010 1110 23,5				

YOU MUST RETURN THIS FORM WITH YOUR OFFER

# STATE OF NEW MEXICO

### TAXATION AND REVENUE DEPARTMENT

# RESIDENT CONTRACTOR CERTIFICATE

Issued to: A.A.C. CONSTRUCTION, LLC

DBA: A.A.C. CONSTRUCTION, LLC

18 LA LUNA RD

**SANTA FE, NM 87507-4312** 

Expires:

16-Feb-2024

Certificate Number:

L1571131824

Stephanie Schardin Clarke

Cabinet Secretary

THIS CERTIFICATE IS NOT TRANSFERABLE

## SUBCONTRACTOR LISTING

NOTE:

A subcontractor that submits a bid valued at more than fifty thousand dollars (\$50,000) for a city project that is subject to the Public Works Minimum Wage Act 13-4-10 NMSA 1978 shall be registered with the State of New Mexico, Department of Workforce Solutions, Labor Relations, Public Works Bureau.

Section 00430

TRADE	NAME	ADDRESS	TELEPHONE#	LICENSE #	NM DEPT. OF LABOR REGISTRATION	SUBCONTRACTOR SIGNATURE – TO BE OBTAINED AFTER AWARD OF CONTRACT
Jack & Bore	e, DH Undergrou	nd, 5508 Broadwa	ay Blvd. SE, Albuquero	que, NM 87105, (505	5) 877-4144, License 61581	
Traffic Co	ntrol, SW Safety	Services, 7605 C	rouch Ct., Santa Fe, N	IM 87507, (505) 424	-3337	
Paving, RI	L Leeder Compa	ny, 1225 S. St. Fr	ancis Dr., Suite F, Sar	nta Fe, NM 87505, (5	505) 473-1360, License 83147	7
Testing, C.	A2, 17 Centro de	e, Algodones, NM	87001,(505) 718-3030	)	······································	
	·					
	,					
		<del></del>				
			.,			
	, , , , , , , , , , , , , , , , , , ,					
		· · · · · · · · · · · · · · · · · · ·				

## NON-COLLUSION AFFIDAVIT OF PRIME BIDDER

Section 004500

STATE OF	New Mexico	)	
COUNTY OF	Santa Fe	)ss. )	
	Andrew Sisneros	3	, being first duly sworn, deposes and says that:
1)	He is the	aging Member	A.A.C. Construction, LLC
	the Bidder that ha	s submitted and attache	ed Bid;
2)	He is fully inform such Bid;	ed respecting the prepa	paration and contents of the attached Bid and of all pertinent circumstances respecting
3)	Such Bid is genuin	ne and is not a collusiv	ve or sham Bid;
4)	interest, including firm or person to or to refrain from collusion or comm of any other Biddo secure through an	this affiant, has in any submit a collusive or sh bidding in connection nunications or conferen- er, or to fix any overhe-	fficers, partners, City of Santa Fe's, agents, representatives, employees, or parties in y way colluded, conspired, connived or agreed, directly or indirectly with the Bidder, tham Bid in connection with the Contract for which the attached Bid has been submitted with such Contract or has in any manner directly or indirectly, sought by agreement or nee with any other Bidder, firm or person to fix the price or prices in the attached Bid or ead, profit or cost element of the Bid price or the Bid price of any other Bidder, or to y, connivance or unlawful agreement any advantage against the City of Santa Fe, or any act; and
5)		nt on the part of the Bi	ed Bid are fair and proper and are not tainted by any collusion, conspiracy, connivance or idder or any of its agents, representatives, City of Santa Fe's, employees, or parties in
			By:
			Title: Managing Member
Subscribed and	sworn to before me th	is 2rd	day of
Notes Duly	<b>K</b>		OFFICIAL SEAL
Notary Public		•	ANGELIQUE LEYVA
My Commission	on expires: 01/13	12025	NOTARY PUBLIC  STATE OF NEW MEXICO  My commission expires 2013, 2025
			My Commission expiles MYT CA

### CERTIFICATION OF NONSEGREGATED FACILITIES

Section 004600

(Applicable to construction contracts and related subcontracts exceeding \$10,000 which are not exempt from the Equal Opportunity Clause.)

The construction contractor certifies that he does not maintain or provide for his employees any segregated facilities at any of his establishments and that he does not permit his employees to perform their services at any location, under his control, where segregated facilities are maintained. The construction contractor certifies further that he will not maintain or provide for his employees any segregated facilities at any of his establishments, and that he will not permit his employees to perform their services at any location, under his control, where segregated facilities are maintained. The construction contractor agrees that a breach of this certification is a violation of the Equal Opportunity Clause in this contract. As used in this certification, the term "segregated facilities" means: any waiting room, work areas, rest rooms and wash rooms, restaurants and other eating areas; time clocks, locker rooms and other storage or dressing areas, parking lots, drinking fountains, recreation or entertainment areas, transportation, and housing facilities provided for employees which are segregated by explicit directive or are in fact segregated on the basis of race, creed, color, or national origin because of habit, local custom, or otherwise. The construction contractor agrees that (except where he has obtained identical certifications from proposed Subcontractors for specific time periods) he will obtain identical certifications from proposed Subcontractors specific time periods) he will obtain identical certifications from proposed Subcontractors specific time periods) he provision of the Equal Opportunity Clause and that he will retain such certifications in his files.

By: Managing Member

Subscribed and swom to before me this

 $\supset$ nd

day of

2021

Notary Public

My Commission expires:

01/13/2025

OFFICIAL SEAL
ANGELIQUE LEYVA
NOTARY PUBLIC
STATE OF NEW MEXICO

My commission expires Jan 13, 202

# CERTIFICATION OF BIDDER REGARDING EQUAL EMPLOYMENT OPPORTUNITY

Section 004700

### INSTRUCTIONS

This certification is required pursuant to Executive Order 11246 (30 F.R. 12319-25). The implementing rules and regulations provide that any Bidder or perspective contractor, or any of their proposed Subcontractors, shall state as an initial part of the Bid or negotiations of the Contract whether he has participated in any previous Contract or subcontract subject to the equal opportunity clause; and, if so, whether he has filed all compliance reports due under applicable instructions.

Where the certification indicates that the Bidder has not filed a compliance report due under applicable instructions, such Bidder shall be required to

submit a	compliance	report within seven c	endar days after Bid opening. No Contract shall be awarded unless such report is su	ıbmitted. -				
			CERTIFICATION BY BIDDER					
Bidder's	Name:	A.A.C. Construction	ı, LLC					
		a Luna Rd						
		a Fe, NM 87507						
1.	Bidder has	Bidder has participated in a previous Contract or subcontract subject to the Equal Opportunity Clause.						
	X	Yes	No					
2.	Compliance	e reports were require	to be filed in connection with such Contract or subcontract.					
	x	Yes	No					
			and complete to the best of my knowledge and belief.	eres				
		ros, Managing M	nber	_				
Name and	d Title of Si	gner (please type)						
		for a	6-3-2021					
Signature	<del></del>		Date	_				

# Certificate of Contractor Registration



This is to certify that

# A.A.C. Construction, LLC

18 LA LUNA RD

SANTA FE, NM, 87507-4312

has registered with the Department of Workforce Solutions

Registration Date: 9/19/2018

Registration Number: 03058720140922

This certificate <u>does not</u> show the current status of the company.

To see the current status for this company please go to the Public Works and Apprenticeship Application (PWAA) at <a href="https://www.dws.state.nm.us/pwaa">https://www.dws.state.nm.us/pwaa</a>

### **BUSINESS REGISTRATION**



City of Santa Fe

**Treasury Department** 200 Lincoln Ave. Santa Fe, New Mexico 87504-0909 505-955-6551

**Business Name: A.A.C. CONSTRUCTION LLC** 

DBA: A.A.C. CONSTRUCTION LLC

**Business Location: SF COUNTY** 

SANTA FE, NM 87501

Owner: ANDREW SISNEROS

License Number: 222939

Issued Date: January 06, 2020

Expiration Date: December 31, 2020

CRS Number: 03157349005

License Type: Business License - Renewable

Classification: Out of Jurisdiction Contractor -

General

Fees Paid: \$10.00

A.A.C. CONSTRUCTION LLC 18 LA LUNA RD **SANTA FE, NM 87507** 

THIS IS NOT A CONSTRUCTION PERMIT OR SIGN PERMIT. APPROPRIATE PERMITS MUST BE OBTAINED FROM THE CITY OF SANTA FE BUILDING PERMIT DIVISION PRIOR TO COMMENCEMENT OF ANY CONSTRUCTION OR THE INSTALLATION OF ANY EXTERIOR SIGN.

THIS REGISTRATION/LICENSE IS NOT TRANSFERRABLE TO OTHER BUSINESSES OR PREMISES.

TO BE POSTED IN A CONSPICUOUS PLACE

### STATE OF NEW MEXICO

CONSTRUCTION INDUSTRIES DIVISION

### A.A.C. CONSTRUCTION, LLC.

LICENSE NUMBER

361394

Qualifying Party(S) SISNEROS ANDREW EXPIRES

05/31/2021

CLASSIFICATION(S) GASS. GBSS. GF-SE. MIMSS

---

า กุมเร็ม ก็สมครั

This care is the chaperty of the CID one should be summittees upon demand